-y
p(k,/,l)—e k'

t=“tiny” = 222" = 227102 271022 = 3 775 % 10%%. Last good n ?
e’ o >t
n!

n

H

n!

>elt

nln g —1n(n!)> u+1nt

Stirling:
1 1 1 1
[n+—jlnn—n+{ }+ln(\/27r)< In(n!) < (n+—jlnn—n+{—}+ln(\/27[)
2 12n+1 2 12n
nln,u—Kn+%jlnn—n+{%}+ln(«/2n’)} > u+Int
n

M+Int < nln,u—Kn +%)lnn—n+{L}+ln(\/g)}

12n

Consider fraction é (more prudent).
n

2n

u+Inl/27)< —(n+%jlnn+(1+1nﬂ)n+{1#}

(n +ljlnn —(1+Inu)n- {L} <—U- ln(t«/ 27[)
2 12n
For Newton-Raphson,

f(n):(n+%jlnn—(l+ln,u)n—{i}+[ﬂ+ln(t\/§)]=0

12n

f’(n)=lnn+(n+%jl—(1+1nﬂ)+{121nz}:

n

1 1 n 1 1
=lnn+l+—-1-lnu+ —e=In—+—+ .
2n 12n M 2n |12n

etc.
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